
Quiz 7: ECG774 Stochastic Control F17

Problem 1 (10 Points) Given an LTI system with an impulse response h(t) derive the formula for the
mean µY (t) and the autocorrelation function RY (t, s) for the output stochastic process when the input is a
stochastic process X(t, ω) with mean µX(t) and autocorrelation function RX(t, s).

Problem 2 (10 Points) Given an LTI system with an impulse response h(t) derive the formula for the
power spectral density SY (ω) when the input power spectral density is SX(ω).

Dr. Pushkin Kachroo, Lincy Professor: pushkin@unlv.edu http://faculty.unlv.edu/pushkin


